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!� �� �� �6�� �6� 7������ ���������	 ���7� ���� ��	7��	 �� 	�$%����&�89��������&� 	��&��

9��	����	 ��� ������� $� �������	 �&�� �6� 	�������� �� ���	������� �����	 ��� 6�7 ������

�	��6��� ���� ������	 ��������� �$	��&�� ��	������� �6��������	���	� !� �����	� � ����� ����

����� �6�� ����7	 ���� ��$�	� ��	�	 ��� 7� �	������ �6� ����� �� � 6� 6:9������ 	��&�� ���

+�		��� !� ���� 	� �������� ������ ������	 �� �� ����&�����;	 	�$%����&� �������� 7�������

<��� ���6�� ������	 ��� 7��� ��  �&�� ������ ��� ������� ���:6����6 ��� $������ 

���������� ��7�� 7������ ��  �&�� ������� ������= ���6�� 6 �6� ������������ ������ �	

��� ��$�	�= ��� �������� �� 7��� ���	 ��� ��	���� 7������ 7��6��� �� ������  ����

�� �-,+0<>1,�0-

* ��� � ���������� �� ��������	 ��� �	��6��� � 6�	 	�� 6� �� �����	���� 76�
	��� ������ ������� �� ���� 7��� ��� �� �����&��7	= 76��� ��6��	 �� ���� *�	7��	
6�&� $��� 	�� 6� �� ��	�������	; �$%����&� �������� ������	�����	? ���
������	���	 6�&� $��� ���7� �$��� �6� 7������ ������	 �� �6�� �	 �� @���
�A�����B ������	= ���������� ��� 6��	�6��� 	����

,6� ��	���	 6�&� ��������� 	�  �	��� �6�� ������	 �� ��� 6�&� ���6 ��7��
�� �A����� ������&�� 7������� #�$	������� ��������  ��7�6 	���� �6� CDE5	 ���
��� $��� 6� 6�� �&��� � 	���:����� 6������		 �� ���6�� �6� >����� #����	
@"�	������ CD��= CDDE? <����� 
� ��� CDDDB �� ����� @.���6�&�� 
� ��� CDD�B�
1��		:	�������� ����� ���� ����� 	�  �	� � ��	���&� ����������� 7��6 ����&�����
�� 6��	�6��� ������	= $�� �� �	  �������� ��� 76�� ��� 7���� ���� � 	���� 
�����������? <�-�&� ��� 1����� @CDDDB 9���� � ���� ����������� �����������
$��7��� ������ ��� 	�$%����&� 7���$��� �� 5�C� @�&�� �E �����������
	�����	B�C

,6�	� 	�����	 6�&� �	�� $���� 7������ �������	 @F6������		; �� F	���	�������
7��6 ����;= �6�� �����$����� ��$���� ���6 ���� �6�� ������� �&�� ������
 ���	� 0�� �� 6� ���%������ �6�� ����	�� �� �6� �����7�� ���� �� F��������
7������; �� F��&����; 7���� ��&��� � ��� 	���� �� ��������	6�� 7��6 ������� !�
��� ����� �7� �$	��&�����	 	�  �	��� �6�� �� ���	 ���? ��� �	 ���� �  �� ���
���� ��� �6� ��6�� ���� ����� �����

C� * 7��� ���7� �A����� �� � 	���:����� ��&���� ���	��� �	 �6�� �	�� �� �6�
	��&��	 ��������� $� �6� #����� !���6�� #������ @#!#B �� �6� G6��������	�
+�	�������	 �� �� ���� 	��&��	 ��� �	��� 76��6�� �6�� ��� F����;=
F$���������; �� F���:����;� 4��� �6� #!# ���� ���	����� �� )�� �6�	
@CDDEB= �6� ���������� �� �6� ���������� 	���� �6�� ��� F����; 6�	 ���
������ 7��6  ��7�6 �� H<G ��� ������ �� �6� G6��������	�

�� �� �6� ���� 	��&��	 ��� +�		�� �6�� 7� �	� �����= ��	�������	 ����� �6���
�������� 7������ �� � ����:��� ������ ���� F����; �� F���6;� ,6�
����������� �����������	 7��6 6��	�6��� ������ ��� ���	�� ��� 5�CC ���

�
�����
� @�55CB ��= ��E8�E�

� ,6� /����� #�6��� �� "�������	 ��� G�������� #������ �55C
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CDD� ��� 5��5 ��� CDD�� ,6�� 6 $��6 ��� 6� 6�� 	� �������� $� �
���&�������� ��	�=� �6�� ��� ��� ��� 6� 6�� �6�� �6� �����������	 �����
7��6 ���� 6���	��� �������	 �� F6������		; �� F���� 	���	�������;�

�� ��������� �� �A����� �$	��&�����	 	��6 �	 �6�	�= �� 6�	 $��� �� ��� �6��
�� ��� �� ���� $� �
�����
 ��
��
I������&� �� 	��� ���������  ����I�6��
���&�	 	���:����� 7������= ���6�� �6�� �$	����� ������� ,6�	 �	 �6� ��7 ���		��
�������������� �6�� "�	������ @CD��B ������� ��� �6� ���� �6�� �  �� ���
6������		 6�	 ��	������ 	� ������ �� ��������  ��7�6 �� �6� >����� #����	
�&�� �6�� 6 ������ ��� 	�$%����&� 7���$��� ��� ���������� @��$��� 7�����B
����		 ������ �� ��� ������ #��������= ��	�������	 �� �6� #!# 9��	���� ��
	�$%����&� ��&���� ��� 7��� $� 	���� �� ���������� $� �6��� ������&�� ������
������&� �� @	��B �6� ���� �� ���6 	��&�� ����� (� �6�	 &��7= �$	����� ������
 ���	 �6�� ��� 	6���� 7��6 ��� �6�	� �� �6� ����&��� ���������  ���� �� ��� ���	�
������&�� 7���$��� �

*���6�� ��	������� �6��������	��� 7����� ���������� �	 ��������� �	
������������� * ���$�� �� �����	 6�&� ����� �6�� �6� ���������� 6�&�
��7�� 	���:����� 7������ 7��6 ��� 7��6��� �������	 ��� �������� ,6� ��&��	�
������ �� ������������ ��  �&�� ������ ������	 �� ���������� �6� ���������� ��
�6� 	������� �������� ����� �� 7���8���	��� �6���� �6�� ������������ @���
6����  ������ ���	���B �	 ��	���$�� ��  �&�� ������� �����������	 6�&� $���
���7� ��� ������ ��	��		���	 �� �6� 	����	�� ��	�������&� ������ �� ��������:
���� ������	����� @	��= �� � (����6���7�� ��� 0	7��� CDD�B�

"&������ 6�	 ��	� $��� ����� �� 	���� ���� ���6�� ������	 �� 	�$%����&�
7������ @	��6 �	 6��	�6��� 	���= 	�� � �� �6� ����:�����= ������� 	����	B ��� ��
������	 �� 6����6 	����	? ��� � ������ 	��&�� �� �6� 	������������ ���������	 ��
	�$%����&� 7���$��� = 	�� <����� 
� ��� @CDDDB�

,6�	 ����� ���������	 � ���$�� �� ���$���	 �6�� ����� �6� ���������	 �6��
��� $� ���7� ���� 	��&�� ��	���	�	 �� 	�$%����&� 7������� !� ���7 ��
��	����6 �� �	��6��� � 	�  �	��� �6�� ������&��� 	��$�� ���	������� �����	
��������� 6�7 ������ ��	���� �� 	�$%����&� 7������ 9��	����	� ��	� �	 ���
7������ �������	�� ��9����	 � ���	�	���� ���������� ������� = ���������� 
7������ ������	 �� 	�$%����&� ���� ��9����	 �6�� 7� ������� ��� �6�	� ������
�	��6��� ���� ����������	� !� �� �� �6�� ������� �� ������� ��� ������
6����� ������ ��	� $��	�	 7������ ���������	 ��  �&�� ��	��	= 	���� �6��� �	 ��	�
�&������ @��	��� ���� �	��6��� �B �6�� �6�	� 	��� ����������	 ���������
	������������ �6��������	���	� !� ��	� ����� �� � ���$�� �� ��6�� ���������
$��	�	 �� ����������� 	�$%����&� ����= ������� ��� �A����� �� �6� ������ 	��������
�� ���	������� �����	 ��� �� ���:�������$����� �� 	�$%����&� 7������ ������	�

!� �6�� �����	� ��� ��������� �� �������6 �6�� �	 ������ �� $� ����
��$�	� �� �6� ���� ���$���	 ����������� !� �	� � ������6��	�&� �����:�����	�
����� 	��&�� ��� +�		�� �6�� ��	� �������� �6� 9��	���� �� 	�$%����&� ��������
7������ ��������� �$�&�� ,6� ������ ���	��� ���� �6�	� 	��&��	 �	 $���� ��
���� � �������� 9��	��������� ��� 	� �	 �����$����� ���� �����$�� �6��
���	���	 �������� ����� �� �6� ���������� �� 	�$%����&� 7������= 76��6 ���
����� $�	�� �� � 	�� �� 9��	����J F!6�� �	 ���� ������K; ,6� ���� �6�� �6�
	��&�� �	 ��� �������� @��:	��&���� �6� 	��� ����&�����	 �&�� ����B ����7	 �	 ��
������� ��� ����&����� ����������	 �� ���	������� �6�� ��������� 	�$%����&�
7������ ��� ��� ��	� ������ �� ��������� ������	= ���������� ��� ��6��

� ,6� /����� #�6��� �� "�������	 ��� G�������� #������ �55C

��� "10-0)�1* L*>H>#,
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����&����� ��� 6��	�6��� �6��������	���	� �� ����������= 7� ����� �6�	� ������	 �	
�� ����	��������= ����:��&������ ����� ��������� ���������� 7��6 �6� 	����:
�������� �6��������	���	 �� ��	�������	� 0�� ����� 	������������ ��	�
�����������	 ��6�� �������	 �� 	�$%����&� 7������ ���� 	�  �	��� �� �6�
�����������

,6�	 �	 ��� �6� ���	� �	� �� ����� ���� �� 	���� 	�$%����&� 7������� ,6� �7�
���	�	� ����������	 ��� &�� �� #���� 
� ��� @CD�EB ��� !��������� ���
!��������� @CDD�B�E ,6� ������ ����� �	�� ����� ���� �� �������� � �����
������ �� 	�$%����&� 7������ �� �6� -��6������	� �� �������� �� �6� ���������� ��
�6� ��������� &����$�� @76��6 7� �A����� �����B= &�� �� #���� 
� ��� �� ��� ����7
��� ������ ����&����� ������	� ,6�� ��= 6�7�&��= ����7 ��� �������	= $�
�������� �6� ��  �� 	�$%����&� 7������ ���	��� �	 � �� ��		�� @�6�� 6 �6��
������ ��%��� �6� ���� �6�� ��	 ����������� �	 �����B� ,6� ����� $� !���������
��� !��������� �	 ��� ���	�	� ����������� �����������= 7� $����&�= �6�
���6��	 ����7 ��� � ������ ����&����� ������ 76�� �������� 	���	������� 7��6 ����
�� H������� �� �������� �� �A������ � 	������ 9��	���� �� ��������� ����= 7�
������ ���� �6� ���6��	 �� !��������� ��� !��������� �� � ���$�� ��
7��	� 0�� ���������� �	 �6�� 7� ����	 �� 	�$%����&� 

�����
 7������= ���6��
�6�� �6� 	����� �� $������I$�� ��	� ���� ��$� ���	I������� �� F	���	���:
���� 7��6 ����; �6�� !��������� ��� !��������� �	� @�� ������ 7��6 ���6 ��
�6� ����������B� !� ����	 �� �6� ���� �����7 ������� �� �6� �A��������� �6�� ��
7��� ����� 	6����� ��	���	 �� �6� 7������ ������	 �� �������� &����$��	J ��	=
F����� ���	 ��� $�� ��� 6������		;= $�� 	����� �� ����	 ��� �6��� ��� ��� ��		
����K !� ��	� �	� � $����� ������ ���	���= $���� �� ���� � �������� 	��&���
0�6�� ����������	 ��� �6�� 7� ����7 ��� ����:&����� �����������	 ���	�� ����
�6� ���������  ���� ������	 ��	��		�� �� �6� ����������= ��� 7� ����7 ���
���� ����	 ������� ���:���	 �� ������� 	�$%����&� ������	� (� ������������ 
�6�	� �������	= 7� ��� ����� � ��7 �	�������� ���6�� ��� 	������ 	�$%����&�
�����

,6� �����7�� 	������ 	��&��	 ��	� 7���� #������ ��� ��	���$�	 �6� 	����� ��
��� ����� <�	������&� ��	���	 ��� $� ����� �� #������ �.= 76��� ��� ����� ���
��	���	 �� �6� �����������	 �� 	�$%����&� �������� 7������ ��� $� ����� ��
#������	 . ��� .�� #������ .�� �����	 	��� ������	���	�

��� #0>+1"# 04 (�*# �- �<"-,�4M�-H !"/4*+" "44"1,# 4+0)

#>(�"1,�." <*,*

#�$%����&� 7������ ���� ��� ��������� �� �6� ���� �� 	���:�������� ��	�����	 �� �
������ �6�� 6�	 � ������� ������� = 	��6 �	 ���� F����; �� F���6;= �� ���� F&���
$��; �� F&���  ���;� !� ���$� �6�� ��	���	�	 �� �6�	 ���� �� 9��	���� ��� �����
�� 	�����	 ���	������� �����? �6��� �	 �� �$&���	 ���	�� 76� ��	�������	
7���� ��� ���� ��� 6�7 �6�� ���� �� �6� ���� �� �����&��7� 2�7�&��= �6�
���������� �� �	��6��� � 6�	 ������� �� F���� &����$�����; �	 � ������ �� 	���:
����� 7������ @<����� 
� ��� CDDDB� ,7� �9����� 6���� ������ ��� 6�&� &���
��������� &�������	 �� �6��� 6������		 �&�� ����= ��� 	���:����� 7���$��� ���
�6�� &���  ������ �������� �� �6� ���� �� �����&��7� @*� �A����� �� 	��6 �
����	���� ������ �	 6�7 � ������ �A�������� �����? 	�� 4�������	�� ���
3�6����� CDD��B !6��� ���� &����$����� ������	 �6� 	����	����� ��� 7��6

� ,6� /����� #�6��� �� "�������	 ��� G�������� #������ �55C

�55CN �<"-,�4M�-H !"/4*+" "44"1,# ���
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�� ��		��	 ������� �� ��� ��:���� �����������	 �� 7������= �� �	 ��� �� �$&���	
	����� �� $��	�

2�7�&��= �6��� ��� ���	��	 �� $� ��������� �$��� $��	� *  �� ����� �	 ����
����&����� ������ �� � ���		:	������ ��� 7��� $� 6� 6�� ���������� 7��6 	���:
����� 7������ ����		 ����&�����	= 76��� �� �6� 	��� ���� �  �� ��� ��������
 ��7�6 ��	���	 �� ������ �� �� �6�� � �� �&��� � 	���:����� 7������� ,6�	 ���
6����� �� �� �	 ������&� ������ �6�� ������	 �� �6� ����&����� ��&��I������&� ��
@	��B �6� ���� ������ �� �6� 	������ �	 � 76���I��� �� �6� ��������  ��7�6 �	
��� 6�� ��	���$�����:������� @������	 �� ��� ��&��	 ���  ��7�� �� �$��� �6�
	��� ����B� �� ���9������ ���	 ��� �6�� � ���6= �� ����	 �� ������	� 7��6
��������  ��7�6= �6�� ��� ��� ������� �A����� 76� ��������  ��7�6 ���	 ���
����	���� ���� ��	�� �&��� � 6������		= 7��6��� ��������� �6�� ����&�����
������	 ��� ������&��� �� ����&����� 7�������

<�	���$������� ������	 ��� ��	� ���	� ���� �6� ���� �  �� ����� �����		�
#�$%����&� 7������ 9��	����	 ��� ��������� �	��� �� ����&�����	= 76����	 ������
���	���	 ��� �	����� ��� 6��	�6���	 �� �&�� ��� ��� � �  �� ���	= 	��6 �	
������	� ,6�� ���9������ 7��6�� 6��	�6���	 @�� ��������	B ��� ��������� �6�
��������	6�� $��7��� 	�$%����&� 7������ ��� �&��� � ������� *�� �6�	 ��� 6���
�&�� �� 	�$%����&� 7������ ���	 ��� ������ �������� �� ������&� ��	������ ��
����������= �� ����&����� 	�$%����&� 7������ �	 � �����&� �������� �� ������= �6��
6� 6�� ������ ���9������ 7��� ��7�� �&��� � 	�$%����&� 7������= 6����� �&��� �
������ ���	������ "�������  ��7�6 7��6 ��	�� ���9������ ��� ������ ������ ��
��  ��� �� �&��� � 	�$%����&� 7������ �&�� 76�� �6��� �	 � 	���� ������ ������
�� �6� ����� ��&���

*���6�� ������� �	 ���	������� ����� �� �������� ������	� ,6� 	�$%����&�
7���$��� 	��&��	 �	�� �� ���6 �� �6� ���������� ������ �� 6�&� �$������
F������; ���� %�	� ��� �� � 	���� ���$�� �� 9��	����	� 4�� �A�����= �6�
H����� 	��&�� �	�� $� !��������� ��� !��������� @CDD�= �� C�B �$����	
������ ���� ��	7��	 �� � 	�� �� 9��	����J F�� �&����6�� �	 ����� �� ��6��= 6�7
6� 6 �	 �6� ����� ����6�� ������ �� ��� 6��	�6��� ���$��	 �� ���	���K; ,6�
��	����� �	������	 ����� ��&���� 	�$	��������� ���� 76�� ��� 7����  �� ���� �
	������� 6��	�6��� ������ ��� �A��������� 	��&��= 7��6 ����&����� ������	
���������� $� 	�����= 7��6 ����������	 ��� ������:��:����� 0�� �6�� �A����	 �6�
������ ������ �� $� ������	������� �� ��	� ��	� 	�����	= �7�� �� �6� �	���
����������� $��	� ,6�	 �A��������� �		���	 � 76���:���	� ���	������� ����� ��
������	? 7� ������ �� �6�	 �����= ��� ���	���� ��6�� ��		�$�� $��	�	 ���	�� 
���� �6� 	�������� �� ���	������� �����	�

)�		������������ �� �6� ����&��� ������ &����$�� ��� $� � ������� �&�� 7��6
���� �������� 	��&��	� ,6��� �	 	���� ��� ��$��� �� &�������� �&��� 	��� ��
�$������ � ���	��� �� F������;� ,6��� ��� �		��	 �$��� 76��6�� �� 	6���� $�
������ �� �A���������= 76�� 	6���� $� ��������= 6�7 ��� 	6���� ��%�	� ���
����������	 �� 6��	�6��� 	���= 6�7 ��	�:��:��&�� ��������	 	6���� $�
���	������� ��� 	� ��� ,6� ���6��	 �	�� �� ��������I�&�� 7��6 ���$�����
	��&��	I���� ��� ������ 7��� 7��6 	�$%����&� �		�		����	� ,6��� ��� $�
����������	 �� �6� ���� ������ �&�� 76��6 ������ �	 ���	���� &��	�	 �6� ����
������ �� 76��6 	���:����������	 �� 7���$��� ��� $�	��� G�	� ������	 ��� ��	�
������= �6��� 6 	�&�� 	� #� ��� ��� �A������ ������ ������	 @�� �����������	
�� �6�	�B ������= ���6�� 76�� ������� �	 ��� ��������������� 	�����$��= �� 76��
�6� ���� ������ �&�� 76��6 	�$%����&� 7������ �	 $��� �		�		�� �	 ��� �� �6��

� ,6� /����� #�6��� �� "�������	 ��� G�������� #������ �55C
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�6�� �&�� 76��6 ������ �	 ���	����� <����	�$�� ���������&� ���6��	 ��
���	������� ��� 7��� ����� � 	���� �� �������������

,6��� ��� ��	� �����$���	 �� 	�$%����&� ���� �6�� ���� �� $� ���	������ ��
�		�		�� ������ ��� ��6�� ������	� G����	��� $����	� �� �	 F	�$%����&�;= ���������
������ ��� 6�&� ��������� ���	���� ������	 �� 76�� � F6� 6; �� F��7; ��&�� ��
	�$%����&� 7������ ����	�� 1������	 �$��� �6� ��������	���� �������$����� ��
	�$%����&� ������	 ������ �� 6�&� $��� �� ��������� �$	����� �� �6��� 7����
����������� �� ��������	 ��� ��6�� 	����� 	������	� M�� 	������� �������� 6�	
�������� �	�� ���6��	 	��6 �	 �� ������� ���$�� �� ������ ���� �6�� �		���
�6� ������� ���:���	 �� ������� ������ ��� 	 �� $� ���	���� ����		 ���
��	�������	�

*� ��������� 	����� �� 6����� ������ �� ������&�� 7������ �	 ���	��������
#��� ������ 	��� �� 6�&� $��� $��� 6����= �� �� 6�&� ���	�	���� ���	�������
�����	 �6�� ���� �6�� 6����� ,6��� �	 �&������ ���� �	��6��� ���� ��	����6
�6�� ������	��= ���������������� 	��$�� ���	������� �����	 	�	����������� ���������
�������� 7���$��� � �� � ����:�����	�	 �� ��	����6 �� �	��6��� �= <� -�&� ���
1����� @CDDDB �������� C�� ���	������� �����	 ���������� 7��6 	�$%����&�
7���$��� =  ������ ����� ��&� �������� �	�� 6����� 	 �� �	��6��� �J
F�A���&��	���;= F� ����$����		;= F���	��������	��		;= F���������	�; �� F���������
	��$�����;= ��� F������		 �� �A��������;� ,6�	� �	��6��� ���� �����	 ��� ���
�������� ���	���� �� 	������� 	������������ 	��&��	= ��� �&�� �� �6�� 7���=
�������� �6�� �	 �� ��		��	 7���� ������ �������	 �$��� �6��� ���� �������
���������� �6� ���	�� ������ �� � ���	������� ����� �� ���� 6������		 @	��B
7���� 	��� ���$�������? �� �	 6��� �� ��� ��� � &���� ��	��������� &����$��=
�6�� �	= ���������� 7��6 �$	��&�� ���	������� �����	 $�� ��� ���������� 7��6
6������		  �&�� ���	��������

*�� �6�	� �	��6��� ���� ������	 �� ����������	 �� 7���$��� �� ������� ��
�	�� 	��6 ���� �� �		�		 7������ ������	K 0� �6� C�� ���	������� �����	
���������� $� <� -�&� ��� 1�����= �6� 	���� �	� ���������	 7��6 	�$%����&�
7���$��� 7��6�� �6� ��&� ���� ����	 ��������� �$�&� ���JD 
�����
�����J
F	����� ����������;? ���

���
�
��J F��������&� 	���:�	����;= F���� �� ��������;
@�� ���&�B= F��������	���� ����	 �� �������;= F	����� ������������;= F	�����
������	�;= F	����� �����;= F���	�;? 
���
�
�������
��J F��	��� ��� �������;= F��6�$�:
����; @�� ���&�B= F���	������;? �
�����
���J F��	���		; @�� ���&�B= F���������
	��$�����;= F��$������	:��	���	����; @�� ���&�B= F�����		�&� �����	�&���		; @�� �:
��&�B= F	����� ��A����; @�� ���&�B= F���	���; @�� ���&�B? ��
��
�� �� 
��
��
�

J
F	���:����������;= F	��� ��	����;� ,6�	� ��� ����������	 �� ��	��	 76��6 ��� 7����
7��� �� ������� ��� �� ����� ��������	���� �������	��	 �� 7������ ��� ��	�
�����	�	 @	��6 �	 ��� ��A �� 7������ ������:����� B? �6� ���� �6�� � ���	�� �	
��6�$����= ��$������	 �� ����������� 7���� ��� �������� ���	������ � ��	� ���
��&����$�� ��A ���������= ��� �A������ �� �6�	� �	��6��� ���� ������	 6�������
�� $� ������������ 7��6 �6� ��6�� &����$��	 �� ������	�= �6�� 7� 7���� ��� ����
�� ������� ��� �6�� 76�� ���	���� �6� 7������ ������ �� ������������= 	���
"A��������� ��7�� 7��� $� ��7��= $�� �6� ������ �	��6��� ���� ������	 7��� ���
$��	 �6� ��	���	�

2�7�&��= �� �	 ����	�$�� �6�� � ���$�� �� �6� ���	������� �����	 �6�� ���	�
	���:����� 7������ ��� ��	� ��	���&��� ���������� 7��6 ������ ��� �� ���&���
���������� 7��6 ������������� ,6� �$�&� ��	� �� ���	������� �����	 �6�� 6� ��
������� � ������ �� 7���$��� �&�����	 ���	�����$�� 7��6 �6� ��	���$�� �6�� 	

� ,6� /����� #�6��� �� "�������	 ��� G�������� #������ �55C
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6���� ��	����� ���� ��	 ��� ���� �� ���� ��� 76�� �����&��7�� %�$
���������	 @<����� ��� H���	���6 CDD�B� ,6�	 ����	 	��	�= 	���� �6��� �	
�&������ �6�� 6���� 7�����	 ��� ���� ��������&� �� &�����	 7��	� @4���� CD�E
��&��7	 �6� �&�������B 4�� �A�����= �6��� �	 � ��� � ���������� �� �	��6��� �
	�  �	��� �6�� &�����	 ���	������� �����	 ��������� 7����� �$	������	�
@�A�����	 ������� ��� � 
� ��� CDD�? 3�&����� 
� ��� CDD�? #�� ��� CDD�B?
	��� �� �6� �����	 ���������� �&����� �������$�� 7��6 �6�	� �6�� 6� �� ���������
	�$%����&� 7���$��� = 	��6 �	 �A���&��	���= ���	��������	��		 ��� ���������
	��$����� @<� -�&� ��� 1����� CDDDB� 0�� ��� ��	� ���%������ �6�� �������
���	������� �����	 	����������	�� ������� 6������		= $�� ���� 	��&��
��	�������	 ��	�������� �� 	�� �6�� ��� 	���� ,6�	= �� ��� $� �� ��� �6�� �6�
������ ��� 6����6 ������	 �� 	�$%����&� 7������ 7��� $� �&���	�������= �	 7���
�6� �$	����� ������ �� ������������� @,6� ������ ������ 7��� $� ��		 �� ���&�
�6�� �6� �	������� �������B

0�� ��� ��	� �A���� �6� ������ ���	������� ����� �� $� ���������� 7��6
��6�� &����$��	 �� ������	�� 4�� �A�����= �� �	 ����� ���%������� �6�� �6� ���6 ����
�� �����	���� �6��� ������	 76�� �	��� $� � 	���� �� �� �� �����&��7 ��� 	���
	��&��� @,6�	 �	 ��� ������	�$�� �� +�		�� �� �6� ���:CDD5	�B ,6�� ��� ��	� ��		
������ �� $� ����������� ,6�� �6� �� ���&� ����������� $��7��� ������������
��� 	�$%����&� 7������ ����� $� ��� �������� �� �6�	 	�������� �� ���	�������
�����	? ������������ 7��� ������ �� ��7�� 	�$%����&� 7���$��� �&�� �� �� 6�	 ��
���� 7������ ������ $����� �6� ��		 �� ������� #��������= �� �6� ���� ������ �&��
76��6 ������	 ��� ���	���� �	 ��� 	6���I��� �� �	 � ��� ��:���� ������
������� �6�� ���&�	 	���:�		�		����	 �� 7������I7� ��� �A���� ������������
��� ��		�$�� ��6�� �6��������	���	 �� $� ���������� 7��6 �6� ���������� $��7���
�6� �7� ������ ���	���	� >����������� �� 6� 6�&� � 	� �������� �� ���&�
������ �� 	�$%����&� 7������ ��  �&�� ������� ������ 	����� $����	� ��	�������	
��������� 7���� �$��� ������ ������ ���� ,6�� ���	 ��� �� ����	� ���� �6��
���	��� �	 ����	���$��= �� �6�� �6��� ��� �� ��&��	� �������&� ������	 ��
������������ ������	������ ,6� 6� 6 �	������ �� �6� ��&�� �� ������������
$������	 ������ �� ������ ������������ ������� $� �6� ��	���	 �� �6� ����������
@	�� �� � !��������� ��� !��������� CDD�B ����� 7��� ������� �6�	 	�������� ��
������ ���	������� �����= 76���$� �6� ������ ������ �	 ������	������� 76���
�6� ������������ ����������� �	 �&���	��������

,6� ������ ���� ������ �� ������ �� 	�$%����&� 7������ ��	� �����	 ��	�
������	 �� ��	� �6� ����� �6�� �� �	 ������ ������&� �� 	��� ���������  ����I���
�$	����� ������I�6�� ������	 �� 7���$��� � .�� �� #���� 
� ��� @CD�EB ���
1���� ��� 0	7��� @CDD�B �� ��		 � 	�$%����&� 7������ ��������� �� $��6 F�7�
������; ��� �� �	������ �� F�������	��  ���� ������;= ������ �6� ����
������ �� ������ 7��6 	������ �6��������	���	� ,6� F�������	��  ����; ������
�	 ����� �� 6�&� � 	� �������� �� ���&� ����������� 7��6 �7� ������ ������� 
��	���&���? �6� ���6��	 �������� �6�� �� �	 ������&� ������ �6�� ������	 ��
7������� 2�7�&��= �6� 	� �������� ������ �� ��������� ������ ����� ��	� ������� �
��		������������� #����	� �6�� ������ 	 ��� ���������� $� ������ ���	�������
�����	 �� 	�$%����&� 7������ &�� �6� ������	 �� 6� 6�� %�$ 	���	������� �� ��$���
�����&�� ��� ��	����	 @�	 ��	��		�� ��= �� �= 4���� CD�E= ��� ������ 1���� ���
0	7��� CDD�B� ,6�� �6� 	� ��������� �� ��������� ������ ����� $� ��� 	����� ��
� ����������� $��7��� �7� ������ ��� ���$	��&�� �����������	 �� 	�$%����&�
7�������C5 ������ ���� ������ ���  ������� 	������	 �������	��  ���� ������	�

� ,6� /����� #�6��� �� "�������	 ��� G�������� #������ �55C
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,6� �A�	����� �� 	����� ������	 ��	� ���	�	 �������	 �$��� �		���� ����:
��&������ ������� ���������	� #����	� �6�� �6� 	���:����� 7������ �� ���	�� � ��
���� �= ���= �	 � ������ �������� �� ������ ������&� �� �6� ���� ������= 76��� �6�
������ �� ���	�� � �� ���� �� C� � �	 ��� 7��6 ���� �� ������ �&�� ��� � �� ��
!� ��� 7���� �6�	 ��������	6�� �	 � ������ ������� �������� 7��6 ����:&����� 
���������	 ��� � �� ������� � �� ����� 76��� �� � ����� @�� �6� ����� �	
��� � �� ��� @������B= �6�� �6� ����:&����� ��������� �	 �6� ����������B ,6�	
�����	 �� ���������&� �������6 �� ����7�� ��� ���������  ���� ������	 ��
�6�	� $�	�� �� �������	��  ���� ����	= �	 ����� �� �6� ����������� �� �	
6�7�&�� �� ��������	�&� ��	�= 	���� �������� �6� ���� �6�� �6� �����;	
���������	 �� ��� &��� �&�� ���� ����� ���� ���6�� �6�� ������&����	 �� ���
������ @���� �6�� ���� �7� ������ ������	B �� �6�� ���� ������ ���	 ���
�6�� � �&�� �����

*� ��������� 	����� �� �6� ��������	 ���������� �� 	�$%����&� 7������ 6�	
��	���� ��	��� ��� ������	 �� 	���:�������� ���
� �
���
� �� 7�������
+�	�������	 ��� �	��� 76�� ������ �6�� ���� �� 	����� 	��������� 7������
��&��	� *� �A����� �	 �6� F������ �&�������� 9��	����; @�"'BJ F!6�� �����:��A
������ �� ��� ���	���� &��� $��= $��= 	���������=  ���= &���  ���K;CC * 	������
��	� �	 �6� ������� ������ 9��	����J F!6�� ������ �� ��� ���� �� ���� ���	
����K; ,6� ��	7��	 ��� �6�� �� ��		�� �� ������ ������ ��� ��6�� &����$��	=
	��6 �	 ���������  ���� ������ �	 �� &�� �� #���� 
� ��� @CD�EB�

,6� ����� ������ �������6 ��� ����� ��������� ��	� 6�	 @	��6 �	 �� 	����� 
� 	����� 	�$%����&� ��&���� ����= �	 �� 3������ 
� ��� CD��? $�� ��	� 	�� G���6��
��� +�&������ �555B� 2�7�&��= �6� �	������� �� ��		���	 �� ��� ��  ������
���&��� ��$��	�� �	������	 �� �6� ������	 �� 	������������ �6��������	���	 ��
	�$%����&� 7������� ,� 	�� 76�= ��� � ������ 	�$%����&� 7������= 76��6 �	 �
�������� �� ������ � ��� �6��������	���	 �= �	 �� �@�� �B= 7��6 �� � 5� ,6�
7������ ��&�� �� ���� ���	 ���� �	 ��� ,6� ������ ��&�� ������ �� ����6 ��
76�� �6��������	���	 ��� � �	 ������� �� ��� �	 ������� ���������� $�
��� �@��� �B� -�7 �		��� �6�� �� �	 � ��	�� �������� �� ������ 7������=
��� �@�B� ,6�� �� �	 � �������� �� � ��� � @�6� �������� �	  �&�� ���������� $�
�9����� �@��� �B� �L�@�� �BNB 7��6 ����&���&�	J

@CB
���

��
� ��@�B��@�� �B

��@��� �B
�

���

��
� ��@�B��@�� �B� ��@��� �B

��@��� �B
�

�� �	 �&����� ���� @CB �6�� �6� ����&���&�	 �� �� 7��6 ��	���� �� � ��� � @�	
�	������� $� �� ��		�� �� �� � ��� �B �� ��� �������� �6� �����	������ 
��� ���� ��������	� ,6� ��� ���� ���� �� 	�$	�������� @)+#B $��7��� � ��� �
@�����B �	 ���������� �� �6� 	������ ��	� �� 76��6 �6� )+# ���	 ��� &��� 7��6
������ @�����	���= ��@�� �B���@�� �B� ��@��� �B���@��� �BB? �6��

@�B
��@�� �B

��@�� �B
� ������

@������B� C
�

�� 	������= $��6 �6� ���		:	�������� ����� �&������ ��� �6� �  �� ���
����:	����	 �&������ �&����$�� ����� 7��� 6�&� � 6��� ���� ��&����� �6� ����
7������ ������	 �� �6�� �	 �� 	������������ �6��������	���	� ,6� ��������� ��
$��	 �	 ������� �� � ������  �����	�

� ,6� /����� #�6��� �� "�������	 ��� G�������� #������ �55C

�55CN �<"-,�4M�-H !"/4*+" "44"1,# ��C
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,6� 	6��� ���� �� H-G �� +�		�� �� �6� CDD5	 7�	 ����������� $� � 	6��� ��	� ��
������ ��&���� @/��	6�� ��� G����� CDDDB� !6�� 6������� �� 	�$%����&�
7���$��� K ,�$�� C ���$���	 ��	7��	 �� � 	������� 9��	���� �� F	���	������� 7��6
����; ���� �7� ��������� ���������� �����	������&� 	��&��	� ,6� 9��	����	 ��� ���
���������= $�� �6�� ��� 	������� @!� �� ��� �	� �6� ���	� 	��&�� �� �6� ���� �����	�	�B
!6��� ���� C�O �� ��	�������	 �� �6� CDDC 	��&�� 	��� �6�� 7��� ��	���	����
@�������� F��� �� ��� 	���	����; �� F���������� ��	���	����;B= �6�	 ��	� �� ��O
����������� ����� �6� �������� ������	� G�		�$�� �6� 7����� F��		 �6�� 	���	����;
@�� �6� CDD� ��� 	�$	�9���� 	��&��	B �	 	���76�� ��		 	���� �6�� F��	���	����; @��
�6� CDDC 	��&��B? �6�	 �� 6� ������� ��� 	��� �� �6� ����������� 2�7�&��= ������ 
�� �6� ��	���$����� ����		 �6� ���� ����	 �� ��������� ��	���	�	= �� ������	 ����
,�$�� C �6�� �6��� 7�	 � 	6��� ������������� �� 	�$%����&� 7�������C�

0� ����	� @�����7�� �6� �$	��&�����	 ���� �� �6� ��	� 	������B= �6�	�
�  �� ��� ��	���	 �� ��� ����� �6�� 	���:����� 7������ �	 ��	���	�&� �� �$	�����
������ �6�� �	 �� �6� ����� ��&��� G�		�$�� 	���:����� 7������ �	 ���&�� ��������
$� ������&� ������= ��� �� �	 �6� ��	� �� ���9������ �� +�		�� �6�� �	 ���&�� �6�	�
��	���	� !� ��A� ���� �� ����� ����� �����

#���� �6� ���: ��� ��	�:������ ���� �	�� �� ������� ,�$�� C ��� ����
��������� 	��&��	= ��� �����&��7�� ��������� ������= 7� ������ 	��� �6�
������	� ,6� ��	�:������ ����= 6�7�&��= ��� ��� ��������= �6�� 6 �6��� ��� �7�
��	����� �����	= CDD�8D�= ��� CDD�8D�� (��7��� �6� ������ �7� ����	 �6��� 7�	
� ������ ������	� �� �6� ���������� �� �6� 	����� �� �6� ���	�:	���	����
���� ���= ��� �6�	 �	 �6� ������ 7� 7��� ����	 ���

!� �	� �6� +�		��� /�� �������� )�������� #��&�� @+/)#B ��� CDD� ���
CDD��C� +/)# �	 $�	�� �� �6� ���	� ���������� �����	������&� 	����� �� 	�&����

,*(/" C

#*,�#4*1,�0- !�,2 /�4" �- +>##�*= CDDC8D� @OB

G��:������ G�	�:������

CDDC CDD� CDD� CDD� CDDE CDD�

4���� 	���	���� @F1���������
	���	����; �� �6� CDDC 	��&��B

E � � � � �

+��6�� 	���	���� @F#���	����; �� CDDCB �D D C5 CC C5 D

(��6 ��	 ��� �� @	���B �� C� �5 �5 �5 �5

/�		 �6�� 	���	���� @F>�	���	����; ��
CDDCB

CC �5 �� �C �� ��

-�� �� ��� 	���	���� @F1���������
��	���	����; �� CDDCB

� �� �� �� �5 �C

#����� 	��� C5=�D� C5=�D� �5�� ���� �E��

����

�J ,6� CDDC 	��&�� �	 �6� H������ #����� #��&�� �� �6� "������� >##+= *����8)�� CDDC�
,6� ���� ��� ������������� ��� ����� �� 7�$ 	��� �� �6� �����:���&��	��� 1��	������ ��� G��������
��� #����� +�	����6J 6���J

777����	������6����= �1G#+ ���$��J �E55� ,6� ��6�� 	��&��	 ��� �6�
+�		��� /�� �������� )�������� #��&�� @+/)#B= 76��6 �	 ��	���$�� �� #������ �� �� �6�	 �����?
�6� 	����� ��� �6� ������ �6�� �� �� CDD��

� ,6� /����� #�6��� �� "�������	 ��� G�������� #������ �55C

��� "10-0)�1* L*>H>#,
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�6��	��� 6��	�6���	 ����		 �6� +�		��� 4����������C� ,6� +/)# 7�	
��	� ��� �	 � �����= ��� 7� ��� ����� EE�� �����	 �&�� �6� �����	 ��� CDD�
��� CDD�= 	�� 6��� �&�� E555 7��6 �������� �����

,6� 	��&�� �������� �6� �����7�� 9��	����J FG���	� ��� ��� � D:	��� ������
76��� �� �6� $�����= �6� ���	� 	���= 	���� �6� �����	� ������= ��� �� �6�
6� 6�	� 	���= �6� ����6= 	���� �6� ���6� 0� 76��6 	��� ��� ��� �����K; !� 7���
���� �6�	 �6� "������� /����� '��	���� @"/'B� ,6� 9��	���� ���	 ��� ���	���
�6�� F������; �	 �6� ����&��� &����$�� ��� ������� 76� �	 F����; ��� 76� �	 ���=
$�� ���&�	 �6�� �� �� �6� ��	�������� *� �6� 	��� ����= $� �	�� �6� 7���	
F����; ��� F���6;= �6� 9��	���� ����	�	 �� � ���� �����7 ������� �� 7������
�6�� �6� 9��	����	 ����� �	�� �� 	��&��	= 76��6 ����� �� $������ 7������
�������	 	��6 �	 F6������		; �� F	���	������� 7��6 ����;� �� ���	 ��� ������
����	�$�� �� �	 �6�� ��	���������	 $��7��� ��	7��	 �� �6� "/'= �	 ��	�� �$�&�=
��� �� �$%����&� ���	��� �� ���� ������ ������� �6� ���� �6�� �6�� ��� ����� ��
���	��� ��������� �6�� 	� ,6� ���� ������ ���	��� �	= ����� ���= ����$����� @��
�6���� �� ���	�B �� � ������� �������� �6�� ��� $� ���� �� ��		 $����� �� �	 ���
�����	���$�� �� �		��� �6�� $��6 ��� ����� �� ���	��� �6� 	��� �6�� = 76��6
7� 7��� ���� F�������� 7������;�

*�� �����	 �� �6� 	������ 6��	�6���	 7��� �	��� �6� "/'� !� ������� ��
������	� �6� 6� 6�	� ��6= ��6 ��� D�6 ��� 	 ���� ���= $����	� �� �6� 	����
���$�� �� ��	�������	 76� �		� ��� �6��	��&�	 �� ��� 	 � ��� D� @0��� �� ��
�6� ��5E ��	�������	 ��� �6��	��&�	 �� ��� � ��� ���� � ��� �6��	��&�	 ��
��� D�B #� 7� ����� �6� ���� �	 � 	�&��:��� �������

,6� ������ &����$�� 7� �	� �	 ����� ���� ����6�� ��	��	�$�� 6��	�6���
������ @�� ���� CDD� �����	B? �6�	 �������	 7� �	 ��� 	������	= 	����� 	�������=
���&��� ����	���	= ��� ������ ��:���� ��� ���� 6��� ����������� ,� ���&���
�� ���� &����	= 7� �	� 7��� �	��$��	6�� �� ���:	������� ��&���� ����	 �	 ��������	
@G����� 
� ��� CDDEB�

*	 ��7��	= �6��� ��� &�����	 	�����	 �� ����� �� ���	���� ���� ������	= ��
$��6 �6� ��&��	 ��� �6�� �	 �&�� ����� ,6��� ��� �������	 �$��� 76��6�� �6�
&����$��	 �� �6� ��������	 6�&� $��� ���	���� 7���= ��� 7�� 6��� ���������� ,6���
�	 ������ �� $� ����$����� �����:�������� �� ������� ���������	 �� ������= 76��6
��� ��� �� �� �� ��� 76��6 ��A 7�	 �&����� ,6�	 7��� $� ��		 �� � ���$��� ��� �6�
���� ���� �6�	� 6��	�6���	 �6�� ������ ���� 6��&��� �� �� �� ������ 	�����	=
����$�� 7� �	 ���� � �� ���� %�$ ���  �&��������� ����	���	� *	 ��� �6���= 7�
7��� ���� ��� �� ��		���	 �� � 	�$	����� ��	������� �� �6� �555 �����	 ��&�� ��
6��	�6���	 ��� 76�� �������� ������ �	 �� ���	� D5O ���� 7� �	= ���	���	=
������������ $������	= �6��� $������	= ��6��  �&��������� ����	���	 ������
	������	� 0�� �A��������� �	 �6�� �6�	� ������ ���������	 7��� $� ���	����
���� ����������= �6�� 6 �6��� �	 �����$����� 	��� ���	������� ����� 6��� ���=
�� ���� $����	� 7� ��� $�	�� �6� ����������� �� �������� ������	� ,6�	 ��	�������
	����� ������ $� ���	������ �����	������&��

!� 7��� �	� �A���������	 �	 7��� �	 ������	� ,6� �A��������� ���	��� �	
������6��	�&�= �������� ����������	 ��� ���	������� �� ���� @	��6 �	 ����
������ ����	 �� ��������	�	B �	 7��� �	 ��	6 �A���������	� �������� 
�A���������	 ��� 6��� ������	��� ��� ������� ����	 �� ������ ���	�������
�����? ��� �A�����= � 6��	�6��� 7��6 ���� �� ������ �	 �������� �� ������ �6��
������ ����������= $�� �� ����� 7��� $� $����� ��������� �� �A���������	� ��
��� ��	� $� �� ��� �6�� 	�$%����&� 7������ 7��� ������ ���� �� ��� :���

� ,6� /����� #�6��� �� "�������	 ��� G�������� #������ �55C

�55CN �<"-,�4M�-H !"/4*+" "44"1,# ���
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@F���������;B= ������= 76��6 7��� $� $����� ��������� �� ������� �A���������	
�6�� ������� ������	�

�.� #0)" <"#1+�G,�." #,*,�#,�1#

,�$�� � 	��������	 ��	���	�	 �� �6� "/'� ,6� ��7 ��� ������ �����	  �&�
�6� ���$�� �� ��	�������	 ��� ���6 ������ ��� � (� �A������� �6� �����
������ �� �6� 	��&��= 7� ��	�  �&� �6� ���$��	 �� ��	�������	 7��6 ���6
��		�$�� ���$������� �� ��	���	�	� ,6�	= ��� ��� �	� �6� ��$�� �� 	��
6�7 ���6 ��&����� �� ��� ��7� �6� ������ �6��� 7�	� 1������� �6�
������ ��� ��7 �����	= 7� ���� �6�� �6��� 7�	 �� ������	� �� �6� ����������
�� �����	 �������� �6�� �6�� ��� �� �6� �����	� ��7 ��� 	= �6�� 6 �6��� �	 ���
���	�:����� ��������� �&�� �6� ��	���$������ ,���� �6� �����	� �7� ��� 	 ��
$� �6� 	�$%����&��� ����= �6� 	�$%����&� ��&���� ���� ��	� ���� ����O ��
�C��O�

,*(/" �

)0.")"-,# >G *-< <0!- ,2" #>(�"1,�." "10-0)�1 !"/4*+" /*<<"+=
+>##�*= CDD�8D��

CDD� CDD� ,����
@OB

C � � � E � �� L���� ON

C �E� C�C C�5 �D ED C� � ���
@C��D�B
LC��D�N

� C�D ��� �C� C�� C5� D D ��5
@CE��EB
L�����N

� C�� ��E ��� �5E ��� �� �� C���
@�����B
LE���DN

� CCC CE� ��C ��� �DD �C �� C�5E
@�C�E�B
L����EN

E DE CC� �C� �E� ��� �C �� C5D�
@CD��EB
LD��E5N

� �� CD �D E5 �C C� D �C�
@��D5B
LD����N

�� � � C� �5 C� � CC �D
@C�EDB

LC55�55N

,���� ��� D�5 C��5 CC�� CC5E �CE C5� EE��
@OB @C����B @C����B @�����B @�5�CDB @CD���B @���EB @C�DCB @C55�55B
L���� ON LC����N L�C�EEN LE����N L�����N LD����N LD��5DN LC55�55N ����

� ,6� ���$�� 7��6�� ���6 ���� �	 �6� ���$�� �� ��	�������	 ���� �6� CDD�8D� ����� 7��6 ���6
���$������� �� ��	7��	 �� 76�� �6��� �������� 7������ �	 �� � ����:��� ������� @+�� 	 �8D 7���
�  �� ���� $����	� �� 	���� ���$�� �� ��	���	�	�B

� ,6� /����� #�6��� �� "�������	 ��� G�������� #������ �55C

��� "10-0)�1* L*>H>#,
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16�� � �� 	�$%����&�
�������� 7������
CDD�8D�

-��$�� ��
��	���	�	

@OB

)���
 ��7�6 ����
�� ������
������&� ��
�6� ��&����
���� @OB

4����� ������ ������&� �� �6� ��&���� ����
@OB

+�	�� ������ ������&� �� �6� ��&���� ����
@OB

���5� ��58�5 ��58�5 ��58�5 ��585 58�5 �58�5 �58�5 �58�5 �58C55 C55�

4��� $� � �� ���� ��� 	 ��C ��C�DC �� E� �5 �� E� CD C� C� D � ��
@����B

4��� $� � ��� 	 ��� ���DC DC �D �C �� �� �D �� CD C� D �D
@C5���B

4��� $� C ��� ��� �C�DC C�� C�D C�� �� C�C �C E5 �� �� C5 ��
@C����B

-� �6�� � C�5� CE��� C�� C�D �C� D� C�� C�E �D �� �� �C C�5
@���DEB

������	� $� C ��� DE� ���DE C5� CCE C5� �E C�� D� �� �5 �� �� C�5
@CD��EB

������	� $� � ��� 	 EC� �D�E� E� E� �� �� E� E� �� �E �E C� D�
@C5���B

������	� $� � �� ���� ��� 	 ��5 ����� �� �C �D CE �� �� �� C5 C� C� �E
@���5B
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,6�	� ���� 	�  �	� ���	�����$�� ����	���� 	�$%����&� ��&����� 0� �6� C�5�
�����	 76� 	��� �� CDD� �6�� �6�� 7��� �� �6� �����	� �7� ��� 	= �E� ���
�6��	��&�	 �� �6� �6��� �� 6� 6�� ��� �� CDD�? $� �6�	 ����������= ��O �� �6�
	�$%����&��� ���� �	����� ��&���� 7��6�� �7� ����	� 2�7�&��= �6�� 7��� ���
��������I�� �6� C��� ��	�������	 �� �6� �����	� �7� ��� 	 �� CDD�= DC� 6��
$��� �� �6� �6��� �� � 6� 6�� ��� �7� ����	 ��������

,6� ����� ������ �� �6� +/)# ����7	 �	 �� 	�� 6�7 ��	7��	 �� �6� "/'
�6�� �� �&�� ���� ��� �6� 	��� ������= ��� �� ������� �6�	 7��6 �� �6�  ��7�6
����	 �� ������ ������&� �� �6� ��&���� ����� *	 �	 �&����� �� ,�$�� �= �6��� �	
���	�����$�� ����	���� 	�$%����&� ��&����� ,6��� �	 � 	������ �� ��� �� ����	����
��&���� 76�� �		�		�� $� ������	 ������&� �� �6� ��&���� ����J ��O ��
��	������ �����	 76� ��&�� �� 6��	�6���	 7��6 �� ������ $���7 �6� ��&����
���� �� CDD� 6�� �	����� ��&���� �� CDD�= 76��� �5O �� �6� ���� �� CDD� 6��
��� $��� ���� �7� ����	 ��������CE

*�� �6� �6�� �	 �� ������ ��	�����	 ���������� 7��6 �6�� �	 �� 6��	�6���
������	K ,�$�� � ����	 �� �6� ��������	6�� $��7��� �6�� �	 �� ������ ��	�����	
��� ������  ��7�6� !� ������� �6� ��	7��	 �� �6� "/' ��� CDD� 7��6 �6�	�
 �&�� $� �6� 	��� ����&�����	 �� CDD�� !� ���� �6�� �6� �&��� �  ��7�6 ����	 ��
���� ������ ���� �� ��	� �	 �6�  ��� �� ������ ��� 	 ��	�	� 2�7�&��= �6��� �	 ��	�
� 6� 6 &������� ��  ��7�6 ����	 7��6�� ���6 ���� ���� ,6��� ��� ������
�������� � 	�$	������� �����&����� �� �6��� 	�$%����&� 7������ ���� �6�	�
�A��������� �6� ��� �	� ������ ����	= ��� 	��������= �6��� ��� ������ �������� 
� ��� � ���� �� �6��� 	�$%����&� 7������ ���� �6�	� 7��6 ��� � ���	����  ���	
�� �������

,�$�� � 	�  �	�	 �� �		�������� $��7��� �6�� �	 �� ������ ��	�����	 �&��
���� ��� �6�  ��7�6 ����	 �� ������	 ������&� �� �6� ��&���� ����� !6�� 7�
���	����� �6� ������ ���� ��$��= �6� 1����� . 	����	��� �	 5�5���� @�� PC�D=
76��6 �	 	� �������� �� �6� 5�55C ��&���BC� !6��� �&��� �  ��7�6 ����	 ���
��������$�� 6� 6�� ��� �6�	� 76� ������ �6�� �6��� �������� 7������ 6�	
�����&��= �6��� �	 ������� � ��� � ��	���	��� ��  ��7�6 ����	 ���� �6�	� �� ���
 �&�� ���� ��� �������� �� �6��� 	���:�������� ������ ��	�����	�

.� * )>/,�.*+�*," )0<"/ 04 #>(�"1,�." !"/4*+" !�,2 /*,"-,

2","+0H"-"�,M

,6� ��	��		��� �� #������ �� 	�  �	�	 ���� �����$���	 �� 	�$%����&� 7������ ����
�6�� 7� 7��� �� $���� ���� ��� ����������� 	������������� 4��	�= �6� ���� ����
�� �6� ���� �� ������� 9��������&� &����$��	? 7� ������ �		��� �6�� �6�
���������� $��7��� ��� 	 C ��� � �� �6� ������ @	��B ����	 �6� 	��� �� ����	 ��
7������ �	 �6� ���������� $��7��� ��� 	 � ��� �� #�����= �6��� �	 ��  ���
���	�� ��� �		���� �6�� �6� ������&�� ������� ������� �� ����6 �  �&�� ������
��� �	 �6� 	��� ����		 ������? ��������� ������ 6�&� ��������� ������	� ,6���=
7� ��� �A���� �6�� ����:��&������ $�� ���$	��&�� ���	������� ����������	
%������ ��������� �$	��&�� 	������������ �6��������	���	 ��� �������� 7���:
$��� � *�� �����6= 	����� ���������: ���� ������	 ��� ������ �6�� �6� ��&�� �� �
���	��;	 	�$%����&� 7������ ��  �&�� ���	���� ��� 6��	�6��� �6��������	���	 7���
&��� �&�� �����

0�� ����������� ����� ���	 �� ����������� �6�	� �������	� !� ����7 �6�
���$	��&�� ���������	 ������� �������� �� ������� �� ������&� ����&����� �������

� ,6� /����� #�6��� �� "�������	 ��� G�������� #������ �55C

��� "10-0)�1* L*>H>#,
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!� ��	� ����7 �6� ������� ������&��  ���	 �� ������� �� ��&� �� @�� ��7�B �6�
������ �� &��� ����		 ��	�������	� (� ����� ���	� ����������	 �&�� ���� �� �6�
������� �������� ��� ������ ��� ����	�������� ����������	 $��7��� ������ ��
�6��� ������&�� �������  ��	 ������&� �� �6� ������ ��� 	= 7� ��� �$�� �� ��������
�6� ��� ������� ���������	 ���� �� ������� ���$�� ��� �6� �6�� �	 �� ������
��� 	�C� !� ��� �&��� �6� �	��� ���������� ���������	 ���$��� �� �	������� �
��A�� ������	 ���$�� @16��$������ CD�5B 	���� �6� ������ ���������	 &����$�� ��
��� ��	� �	 �6� ��� �������  ���� ,6�	= 7� ��� ���������� ��� �6� ��A�� ������ ��
������� ��&��	 ��� 	����  ������� � ���:��:��� ������ ���� �6� ������
���������	 &����$�� �� �6� �$	��&�� �6�� �	 �� ������ ��	�����	�

,� ������� �6� ���6�� ���� ��������= ��� �6� ������� �� ���	�� � �� ���� �= ���=
$� � �������� �� � &����� �� �A� ����	 �6��������	���	 ���? �6�	 ��� $� �����������
�	 �� �������� ������� ��������� !� ���� �6� 	������� �		������� �6�� �6�
�������� �	 	�����= �� �6�� ���� C ���	 ��� ��������� ���  �&�� ���� 2�7�&��= 7�
����7 �6� ������� �������� �� &��� $��7��� ������ ��  �&�� ���� �� ����������= 7�
����7 ��� � ������ ����:��&������ ����&����� ������ �� ���? �6�	 �	 ����������$�� �	
�� ����	�������� ��	�� 	6����� �� �6� ������� �������� ���	�� ���� �	��6��� ����
����������	�

!� �		��� �6�� �6� ������� �������� �	 ������ �� ���������	 ��� �6�� ��
�������	 �� ������&� ����� ����� ,6�	 6�	 �7� ���������	� ,6� ���	� �	 � ����:
��&������ ����&����� ������= ��= �����	����� ���	������� �����	 ��� ��� ��6��
	�����	 �� ������ 6����� ������= ��� ����:��&������ ���	������� �����	? �� �	
����7�� �� $� ���������� 7��6 ���� ,6� 	����� ����� ��������� �	 � ������ ������
����&����� �����= ���= ����������$�� �	 �6� ���� &����$����� ������	 ��	��		�� ��
�6� �	��6��� � ����������= ����� �6� �		������� �6�� �6�	� ��� ���6� ���� ��
���� ,6� ������ �		������� �	 �������? 76��� 7� 6�&� ������ ��������� �6����=
&��������	 �� �6�	 �		������� ���	�� ���� �����������	 $��7��� ���� ������	
��� �$	��&�� ������	�����	 ������ $� ����� ��� �6�����������= ��� 7��� $��	 ���
�	������	�

,6� ������� �������� �	 �6��

@�B ��� � ����� � �� � ���� �� C� �� �� C� ��

-����� �6�� �6� ��������� &����� �� &����	 �&�� ����= ��������� �6� �6�� �	 ��
���������  ���� ������= �	 ��	��		�� �$�&�� 4����7�� 	������� �������� ��
����� ���� �����������	= �6� $��	 �� �� 0/# �	������ �� @�B ��	����� ���� ���:
���� �����������	 $��7��� ��� ��� �� ��� $� ���������� $� ����� ����������	
�&�� ���� @�� $� ����� ��&������	 ���� ���� ����	= 76��6 �	 �9��&����� 7��6
�7� �$	��&�����	 �� ����BJ

@�B ���� � ������ �������� C ������

76��� ���� � ��� � ��C �	 �6� �6�� � �� 	�$%����&� 7������ ��� ���	�� �=
���� � ��� � ��C �	 �6� &����� �� �6�� �	 �&�� ���� �� �6� �A��������� &����$��	=
��� ��� � �� � �C �	 �6� �����	������ &����� �� �6�� �	 �&�� ���� �� �6�
���������	� -����� �6�� � &����$�� @	��6 �	  �����B �6�� ���	 ��� �6�� � �&��
���� 	���� 6�	 � ���:���� ��������� �� �9������ @�B �� �6� ���������	 �� �6�
������� �������� �� ��&��	 @�9������ @�BB �6�� � �&�� ����� 0� ����	�= 6�&�� 
���������� ��= 7� ��� ���$�� �� �������� ��������� ������	 �� 	�$%����&� 7������
�� ����:��&������ &����$��	= 	��6 �	  ������

� ,6� /����� #�6��� �� "�������	 ��� G�������� #������ �55C

�55CN �<"-,�4M�-H !"/4*+" "44"1,# ���
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!� ������ �	������ @�B �������� 	���� 7� �� ��� �$	��&� ����� +��6��= 7�
���7 �6� ��	�������;	 ��	�����	 �� ���6 �� �7� ����	 �� � ������ 7��6 �
��� 	� ,6��� �	 ��� � ���:��:��� ������ ���� �6�� �	 �� ������� �� �6�� �	
�� �6� ������ ��� = 	���� ����&�����	 �� �6� 	��� ��� ��� 6�&� ���������
������� ������� ��&��	� /�� ���@	B ������ �6� ������&�� ��������� �� ������� ������
��� ���	�� � �� ��&���� 	 ��� 	? 7� ���� �6�	 �6� F�������  �� ��������;� 4��
�A�����= �� $��7��� ����	 �� C ��� � ������� ����	 $� ���� �6�� ���@��B= �6��
��� 7��� $� �� ���	� �7� ��� 	 ��7�� �� � �6�� �� �� C� �� ����= �	 ����� 7��6��
�6� �����&�� L���� C@�CB= ���� C@CBN= �6�� ��� 7��� $� �� �6� 	��� ��� �� ���� � �	
�� C�

0�� 	����� � ��� ���������� �6� �C ���������	 �� @�B �	 �� ��	������ �
	������� ���� ��� �6� �������: �� ��������	� �� �	 �������� �6�� �6� �������  ��	 ���
�6� 	��� ����		 ����&�����	� ,6� ��� �		������� �	 �6�� �6� �������  ��	 �������
� ������ ������&� ��������� ����		 ��� ����&�����	 ���	 �� ����	��������
��������� �6�� ������	 �� ������� �6��������	���	 @	�������� �� �6� �������
��������B� ,6� 	������� ���������� ���� 7� �		��� �	

@EB ���@	B� 
@	B� 	��� � 
���

76��� 
@	B ��� 	 ��� ���������	 ��� 
�� �	 � ����:���� ������ ����� �����C�

!6��� �6�	 ����7	 ��� 6����� ������ �� �������  ��	= �� ���	 	� �� � ���6�� 	������
7��� �� ���	 ��� ����7 ��� � ������ ����&����� ������ �� �������  ��	= %�	� �	 @�B
���	 ��� ����7 ��� �� ����&����� ������ �� �6� �6�� �	 �� �������? ������ 7��6 �6�
	��� �$	��&�� �6��������	���	 � ��� �� �6� �������  ��	= �� �&��� �� *�� ��
�		���	 �6�� ������ � ��� �� ���@	B� ���@�B ��� ��� � �� 	�

,6�	� �		�������	 ������ �	 �� �	������ �� ������� ���$�� �� �6� �$	��&��
�6�� �	 �� ������ ��	�����	 76��� �6� ������ ���������	 &����$�� �	 �6� �6�� �
�� ������� ��� �� �6� ����	�������� ��������� �� �6� ��  �� �������  ��J

@�B ��� ����� � ���� C@	B� 
@	B� ������ � @��� � 	B���� C � ����

�� 76��6 �6� �����	��� ����� ����= ��� ����� � 
��� C= �	 �������� ��	���$����
����� ��� �		�������	� ,6� �������� ������ ��	����� 7��� $� ���6�� �� �� ��� �	
7��6�� �6� �����&�� L
@�CB� 
@CBN= 76��6 �	 �9��&����� �� ��9����� �6�� ���� �	
����� �� L���� C@�CB� ���� C@CBN=  �&�� �6� ���������� �� ��� �� @�B ��� �6� �		����
���� �� �6�  �� �������� �� @EB� �� � ������ �� � ��� 	= �6��� ��� ��� C ��		�$��
��� �6�� �	 ��� �@�� CB &����	 �� 
@	B=  �&�� �6� ����������� @������B ���:
���	 �� �6� ��� �����	���� *� �6� �A�����	= �� ��� �	 ��		 �6�� 
@C� �B @ ������
�6�� 
@�� CBB= �6�� ���	�� � 7��� 6�&� ������ @��	��B $� �6� ��A���� ���$��
�� ��� 	 @�� CB� !6��� 
@	B ��	� $� 	������� ������	�� �� 	= 7� �� ��� ��9����
�6�� 
@	B $� ��	���&� @�� ���&�B 76�� 	 �	 ��	���&� @�� ���&�B�

,6�	= �� ������� ���$�� ��� �6� �6�� �	 �� ������ ��� 	 ����7	 �	 ��
�	������ �6� �� ���������	 �� �6� ������� �������� ��� �6� ���:���	 
@	B �� �������
 ��	= �� �� � 	����� @�6� ��&��	� �� �6� 	������� ��&������ �� �6� ����� ���� ��
�9������ @�BB� ,6� �	������	 7��� �� ��� �� $� $��	�� �	 � ��	��� �� �6� ���	����
�� �6� ������ ����&����� ������	 �� ������� ��&��	�

-����6���		= �6��� ��� � ���$�� �� ����������	 �� ��� ���6��? �6��� 	����
����

C� !� ���� ���� 7��6 ��� 	����� �� $��	= ������ �6� ���������� �� ��	�������
�6��������	���	 �� � ������ ����:��&������ �	��6��� ���� ������ �� 	�$%����&�

� ,6� /����� #�6��� �� "�������	 ��� G�������� #������ �55C

��� "10-0)�1* L*>H>#,
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7������� !� �� ��� ���� 7��6 ���� ������ 7��6 ��	���� �� ���� ������	 ��
��6�� ����:��&������ ���$	��&�$��	�

�� *	 �	 ����� ���� �9������ @�B= �6� ������� ���������	 ��� �� C ������ $�
��	��� ��	6�� ���� �6� ���������	 �� �6� �������  �� ��������	� ,6�	 7����
��9���� �6� 	���� �� �		�������	 �� ���6�� ����:��&������ ������� ���������	
�� ��A�� @�A������B �������  ��	�

�� ,6� ���6�� �	 ���	�$�� ���� 7��6 �7� �$	��&�����	 �� ����= 	���� ���� �6�� �	
�6��� � ������� ������� �� �6� �6�� �	 �� ������ ��� 	� #���� ��� 7���	 ��
����7 ��� �6�� �� ���������	 �&�� ����= �6�	 �	 ��� ������ ��	������&��

.�� "#,�)*,�0- +"#>/,#

�� 7� �	� �6� �� ���������� �� ������ ������&� �� �6� ��&���� ���� �	 �6� 	���
�A��������� &����$��= �6�� 7� �$���� �� ������� ���$�� �� ��		��� ����������� ��
5�5��E 7��6 � 	������� ����� �� 5�55� @� �:����� �� ��CEB� ,6�	 �	 	� �������� ��
�6� 5�555E ��&��� 2�7�&��= �7� �$	��&�����	 ��� ����$��� 4��	�= ����  ��7�6 ��
������ ������&� �� �6� ��&���� ���� 7�	 	���� �		������� 7��6 ��7�� 	�$%����&�
7������ @,�$�� �B� #�����= �6� $��� �� �6� �� :������6��� �� �6� 9��������&�
����������	 �� 7������ �	 ���� ���A������� $� ������  ��7�6 ����	? �6� �	����
�� ��� �6� 0G �� ��		��� �� �6�  ��7�6 ���� �	 ���� 5�55DE�CD ,6��� �	 ������� �
��� ���� �� �6�� �� ����������	 �� �������� 7������ �6�� ���	���� ������
 ��7�6 ����	�

!� ���	���� �7� 	��	 �� ���������� �A��������� &����$��	� ,6� ���	� �������	
�6�	� ��� 7���� �A���� �� $� �������� �� � ���	��� �� ���� ������ ���
�9��&����� 	�� �� ������ 2��� 7� ������� � ������6��	�&� 	�� �� ���� ���6��
&����$��	= �	 �� 6� $� �	�� �� ���� �� �9��&������ 	����� ,6� 	����� 	�� ��
&����$��	 �	 ��� �������� �������� �� � ���	��� �� ���� ������= $�� �� 6� 7���
$� ���	������ �� ��������� �������� 7������ ������������� �� ������� 2��� 7�
������� � &������ �� ����&����� �6��������	���	= �������� � � ��� ������� 	����	=
��� ���	���	 �� 6����6= ���������= ���������� ��� ���	�������� !� ��	�
�������  �� ���6�� ����� &����$��	? �6�	� ��������� &������� ��	����� ����
���A������� ���������� ������	= 	��6 �	 ����� ��$���  ���	 ��� ���������  ����	
������	� @+����� �6�� &����$��	 �6�� �� ��� &��� �&�� ���� ��������� ������ �� �6�
�� ��		��� 	���� �6��� �����������	 ��� �6�� � �&�� �����B

,�$�� �  �&�	 ��� �	������	 ��� �6� ���� 	����� ��� �6� 	����� ��	������� ��
�6�	� ��� 76�� 7� �	 ���  �&������� ����	���	 ������� ��� �� ���	� D5O ��
�������� ��������5 @*	 �	���= ��� ������ �������� ������� �6� �����������
�	������	 ��� �6� �7� ������	=  �&�� �6�� &������� �� �6� �������������
���������� �� ����&����� �����	 ���� ��� $� �6� 	����B

,6� �6�� �	 �� �� 6��	�6��� ������ ��� �A��������� @$��6 ��� ������B ���
$��6 6� 6�� 	� ��������= 7��6 ��� 6�� �9��� ������������� ������	 �� �6� ����
	�����= �6�� 6 ������ 6�	 � 6� 6�� 7�� 6� �� �6� ��	������� 	������ ,6�
�A��������� &����$�� ����� 7��� $� ������ �� ������ ���	������� ����� �� �6�
76��� 	������

(����� �6� ��� ������ �������������	 ��� ������ ��� �A���������= �6��� �	
���� 7��� �&������ �� ���� ���6�� ������	� G����� ��&�� �� 6��	�6���	 7��6 �
6� 6�� ���������� �� ������ �����	 ������ �� 	�� �6�� �6��� ������ ��� 6��
�����&�� �&�� ����� !���� ������ �� 	�� �6�� ��� 7��	� ���= ��� �	��������

� ,6� /����� #�6��� �� "�������	 ��� G�������� #������ �55C

�55CN �<"-,�4M�-H !"/4*+" "44"1,# ��D
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!6��� 	����� +�	������� 	�����

1���������� 	��� 1���������� 	���

� /� 6��	�6��� ������ ��� ������ 5�C5���� 5�5C� 5�C����� 5�5��
/� �� ����� 6��	�6��� ������ ��� ������= CDD� �5�5�C 5�5�� �5�5�E 5�5�D

� /� 6��	�6��� �A��������� ��� ������ 5�C5D��� 5�5�� 5�5���� 5�5��
/� 6��	�6��� �A��������� ��� ������= CDD� 5�5�� 5�5�� 5�55� 5�5�E

� ����&����� ������ @�C5=555B 5�5�� 5�5�� 5��E��� 5�5��
����&����� ������= CDD� @�C5=555B 5�5C� 5�5�� 5��5E�� 5�CCC

����
���� 
���������� �������
�
� /� 6��	�6��� 	��� �5�5�� 5�5�� �5�5D� 5�CCC
/� �� 6��	�6��� 	���= CDD� �5�5�� 5�5EC �5�5�5 5�5�5

� G��������� �� 	���� �6������ �5��ED 5�E�5 C�5D� 5����
G��������� �� 	���� �6������= CDD� 5���� 5�C�� 5�E�� 5��DC

� G��������� �� $� �6������= CDD� �5���� 5�EE� C�5�C 5��DE
G��������� �� $� �6������= CDD� 5������ 5�CCD 5��55�� 5�C�D

� G��������� �� ����� ��� �5��5� 5�E�� 5��C� 5��C�
G��������� �� ����� ���= CDD� �5�5�� 5�5DD 5�5�� 5�CEC

� G��������� �� ����� 7���� 5���E 5�E�� 5���C 5���5
G��������� �� ����� 7����= CDD� 5������ 5�5D� 5������ 5�C��

� G��������� �� ���	�����	 �5���� 5�5E�� 5���� 5����
G��������� �� ���	�����	= CDD� �
�
�
�



�
�������
 �����
�
,�������� C �
�
�
�


,�������� � �5��E5�� 5�CC� �5�E����� 5�C�5
,�������� � �5�C�D 5�C�� �5��E��� 5�CE�
,�������� � �5�C�C 5�5�� �5��55��� 5�C�5
,�������� E �5�C�E�� 5�5�� �5��C��� 5�CC5
,�������� � �5�C�� 5�5�� �5������ 5�CC�
,�������� � �5�C���� 5�5�C �5������ 5�C��
,�������� � 5�5�� 5�5�D �5�CE5 5�CC�
,�������� D 5�5E� 5�5D� �5��E� 5�C�E
,�������� C5 �5�C5� 5�5�E �5�CDD� 5�C5�
,�������� CC �5�5�� 5�5DC �5�5C� 5�C��
,�������� C� 5�5�C 5�5DC �5��E�� 5�CE5
,�������� C� 5�5�� 5�5�� 5�5�� 5�CC5
,�������� C� 5�5EC 5�5D� �5�C�� 5�CE�

���������� 
����
�
�����
�
* � @�C55B 5�5�� 5�E�� �5���� 5�DCC
* �:	9����� @AC555B 5�55E 5�5�� 5�5�� 5�5DD
4����� �
�
�
�


)��� 5�5���� 5�5�E 5�5�� 5�5E�
#�� �� �
�
�
�


)������ �5�5�� 5�5ED 5�5�5 5�5�D
<�&����� �5�C��� 5�5�� �5�5DD 5�C�5
!���7�� �5������� 5�5�� �5�C5D 5�CC�
2�	 %�$ �5�C�C 5�5D� �5�5�� 5�C�C

�����
 �� 
������
�� ������
-� �6�� � �� ���������� 	����	 �
�
�
�


>��������� $��6 �����	 �5�5�� 5�C�� �5���5 5����
>��������� �� �������� �5�55� 5�5�� 5�5EE 5�C��
"������� �� ���������� �5��D���� 5�5�� �5�CE� 5�C��

@
������
�B

� ,6� /����� #�6��� �� "�������	 ��� G�������� #������ �55C
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7���7	� 2�7�&��= ����6�� ������ �	 �&����� �� �6� ��	������� 	�����= 	� �6�	�
������	 ��� 	��� ���� ������ ���	������� �����	�

,6� ���� �6�� @�� B 6��	�6��� 	��� �	 ��	� ��������= ���������� ��� ������ ���
�A��������� ��� ������= 	�  �	�	 �6�� �6��� �	 ������ �� �� ������� �� 	��� ��
	�$%����&� 7������� ,6�	 ������	 �� $� �� ������ ������	� �� ���		:	�������� ��	���	
�� 	�$%����&� 7������ @	�� �6� 	��&�� $� <����� 
� ��� CDDDB� >	�� �6� ���		:
	�������� ���� ��� CDD�= +�&������ ��� /��	6�� @�555B ���� �6�� 	���:����� 7������
�� +�		�� ��	�	 7��6 ������ 	��� @�6�� 6 ������ ������&� �� �6� ��&���� ���� ����	B�

,*(/" � �������
�

!6��� 	����� +�	������� 	�����

1���������� 	��� 1���������� 	���

�
�� ���
���
�� �� �
����! "##$
.���  ��� �
�
�
�


H��� �5�5�� 5�C�D �5�CDE 5��55
-����� 5�55� 5�C�� �5�5C� 5�CD�
(�� 5�5�E 5�C�� 5�5�E 5��5�
.��� $�� 5�5�5 5��5� 5�55E 5��5�
� 6����6J �� &���  ��� 5��CC 5�C�� 5���E�� 5���E
� 6����6J �� &��� $�� �5������ 5�C5D �5�E���� 5�C��
� 6����6J �� �6�� � �5�5E��� 5�5�� �5�5�� 5�5E5
� 6����6J ���� &��� $�� 5�C5� 5�CDC 5�CE� 5���C

���
�����! "##$
2� 6 	�6��� 5�5�� 5�5EC 5�5�E 5�5�D
,��6������&��������� 5�5�C 5�5EC 5�CC� 5�5��
>��&��	��� �
�
�
�


16�� � %�$ �&�� �6� ������ �5�5�C 5�5E� �5�5�� 5�5�D

%

�������! "##$
0�������	 ���� ��	 5�5�� 5�C�� 5�C�� 5���5
G����		�����	 5�5�� 5�5�� �5�CC� 5�C5�
,��6������	 ��� �		�	���� �����		��� �5�55� 5�5�� �5�5�5 5�C5�
1����	 5�5�� 5�5�� �5�5�� 5�C��
#��&���= 	6��= ������ 7����� �5�C�� 5�5�C �5������ 5�C�5
#������ � ���������� ��� ��	6��� 5������ 5��5� 5������ 5����
1���� ��� ������� 7��� �5�5D� 5�5�� �5���E��� 5�5DD
G���� ���6����� ��������� �		��$�� �5�5E� 5�5�� �5�C�� 5�C55
)����� ��$��� 5�CC�� 5�5�D 5�C�� 5�CC�
*���� �����	 �5��C� 5���� �5�5�� 5����

������ 
�� ���� �� ������� ����

@��B ����DD 5���5 ���D�D 5�E�E

@�EB �����E 5���D �����C 5�EE5

@��B ���C�5 5���� �����C 5�E��

@��B �C���D 5���� ����5� 5�E�C

@��B �C�C�5 5���� �C���� 5�E�C

@�CB �5�E�E 5���� �C�CDD 5�E�5

@CB 5�C�D 5���� �5���D 5�E�5

@�B 5��E� 5���� 5��5� 5�E�5

@�B C���� 5���� 5��D� 5�E�5

@�B C��E� 5���� C���� 5�E��

@EB ���CE 5���D C���� 5�E�D

@�B ��D�E 5���D ����� 5�E�5

-�� �� �$	��&�����	 E55� �5C�
G	����:�� 5�CE� 5����

� 	� �������� �� C5O ��&��? �� 	� �������� �� EO ��&��? ��� 	� �������� �� CO ��&���

� ,6� /����� #�6��� �� "�������	 ��� G�������� #������ �55C

�55CN �<"-,�4M�-H !"/4*+" "44"1,# �EC
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!6� �� 7� 	�� 	��6 ��������� ������	 �� 6��	�6��� 	��� �� 	�$%����&� 7������
$��7��� �6� ���		:	�������� ���� ��� ��� ����� ���� �����K 0�� ��		�$����� �	
�6�� �6��� �	 ��� ������ &�������� �� 6��	�6��� 	��� �&�� � �7�:���� ������ ��
�������� �6� ���� ������� *���6�� ��		�$����� �	 �6�� ������	������ 6������ ������
���� �� 6�&� ��� �� �������	� ,6�� �6� ���		:	�������� ��	���	 ��� $��	�� $����	�
�� �6�	 ������� ���	������� �����? ���� 7� 	7���6 �� �6� ����� ���� �����= �6�
������ &���	6�	�

,6�	� 76� $����� ���������� ������ �� 	�� �6�� �6�� 7��� 7��	� ���=
�&�� ���������� ��� �6� ��		 �� ������� 0�� ��	���	 ���� �6� ���� 	����� �����
��� � �������� &����	 �� �6� 	�$%����&� 7������ ��		 ���� ������������� 4���
,�$�� � @���� 	�����B 7� ��� ������� ��������� �6�� �� 6��	�6��� ������ ���
�A��������� 7���� 6�&� �� ������	� $� � ������ �� 5��D��@5�C5�� 5�C5DBPC��
�� ������	��� ��� ������������� @!� �		��� �6�� �6� 	�&�� 	 ���� �	
���	����= 	� $��6 ������ ��� �A��������� ������	� $� �6� 	��� ����������� !�
6��� ����&����� ������ ���	����= $�� �6�	 &����$�� 6�	 	��6 � 	���� �����������
�6�� ��	 ������ �� �6� ����������� �	 �� �� �$���B�C ,6�	 ������	 �6�� � ��� �
������������ $������ 7���� $� ������ �� ������� � 7����� ��� �� 7����
1��	���� � ��� � 7����� �6��	�� $��7��� 	����� �������� @76��6 �	 �6� ����
	����� �� ������ ��� �6� 6��	�6���B ��� $��� ���������� ��� �����&�� 
������������ $������	� ,6�� �6� ������������ $������ ��&�� 7���� 6�&� ��
$� ���� @� 
C��B ����	 6� 6�� �6�� �6� 7� � �� ������� �6� 7����� ��� �� 7����

!6��� ��� 9��������&� 7������ ������ �� $������ ���������� �	 ���	�	����
7��6 ��	� ��	���	= �6��� ��&���	 ���� �� 4��	�= ��� �	������ �� �6� 7������ ��	� ��
������������ �	 ��� ��7�� �6�� �6� ��	� �������$�� �	������ �� �6� ����������=
������ !��������� ��� !��������� @CDD�B� ,6��� ����������� �� � �����
&����$�� ��� ������������ �	 	�&�� ����	 �6��� ����������� �� �� 6��	�6���
������� 1��	���� � ��� � 7����� �6��	�� $��7��� 	����� �������� @�6� ����
	����� �� ������B ��� $��� ���������� ��� �����&�� ������������
$������	� ,6�� �6� !��������� ��� !��������� �� ��		���	 ����� �6�� �6�
������������ $������ ��&�� 7���� 6�&� �� $� C5D� @� 
�B ����	 6� 6�� �6��
�6� 7� � �� ������� �6� 7����� ��� �� 7���� 0�� ��7�� �	������ ��� ������� �6�
���� �6�� 7� 6�&� �	�� � �����7�� ���������� �� 7������� (�� �&�� 	�= 7� ���� �
��� � 7������ ��		 ���� �������������

#�����= ��� �	�������� ���6�� ����7	 �	 �� ��	� 76��6�� �6��� �	 	�������
�� �6� ������ �� ����������= $� 	�������� �6� 7������ ������ ��  ��� ����
�������� �� ���������� ���� �6�� �� �6�� �� �� �6� ����	��� ����������
#������ ��= 7� ���� �6��  ��� ���� ���������� �� �������� ���	 ��� ���	�
	�$%����&� �������� 7������ ���������� ��� ������ @,�$�� �B? �� ��� ��	� ����
%�$= �6��  ����� �� $��� ���	 ��� ��	���� ���� 	�$%����&� 7������� ,6�	 ��	�	
���$� �� �������&� ��������������	 �� �6� ���������� ������ �� 	�$%����&�
7������I����$�� ��	 	����	�� �����������	 ��� 	����� ������������ $������	�
>���		 �6��� �	 	��������� ������  ���= �6� ���� �&����$����� �� � %�$ 7��� ���
������� �6� ���������� $��� �� 7����

,6���= 76�� 7� ��	����� �6� �����	�	 �� �6� 	�$	����� ��� 76��6 ������	 ���
���� �����$�� �	�������� �6� ������������ ����������� �	 6��&�� �� 	���= ��� ��	
DEO ���������� �����&�� ��7 �������	 ���� @,�$�� �B��� �� �� 6� $� ���%�������
�6�� �6�	 �	 $����	� ��7�� 7�����	 �� �6�	 	�$	����� $����� ����������
����� �6� ������� 2�7�&��= �6�� ���	 ��� 	��� �� $� �6� ���	��? �6�
���������� �� 	������ �����	 76� $����� ���������� �	 ���O �� �6�

� ,6� /����� #�6��� �� "�������	 ��� G�������� #������ �55C

�E� "10-0)�1* L*>H>#,
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��	������� 	����� &��	�	 ��CO �� �6� ���� 	������ * ���� ����	�$�� �A���������
�	 �6�� �6� ������������ &����$�� �	 ������ �� ����:&����� ������
���	������� �����= �	 7� ��	��		�� �� #������ ��� -����� �6��= 76���
������������ ����	 ��� �� �6� ��	������� �����= ����&����� ������ $�����	
	� ��������� ,6�	 �	 ���	�	���� 7��6 � ������&��� ���	������� ����� �� ����&�����
������	 �� �6� ���� 	�����= �		���� �6�� �6� ������ ���	������� ����� �	
�� ���&��� ���������� 7��6 �������������

,����� �� �6� 6����6 &����$��	 �� ��� �����= 7� ���� �6�� 7��	� 6����6
��7��	 	�$%����&� �������� 7������� �� �6� ���� 	�����= F6����6 $������ &���
$��; 6�	 ����	� �6� 	��� ������ �	 $������ ����������� ������ ���
�A��������� 7���� 6�&� �� ������	� $� 5�����@5�C5�� 5�C5DBPC�C ��
������	��� ��� 6����6 $������ F&��� $��;� ,6� ������ �� � ������&�� 6����6
�����&����� �	 ��� 6�7�&�� 	� ��������� ,6� 6����6 ������ �	 �9����� 	� ��������
�� �6� ��	������� 	�����= ��� 6����6 �����&�����	 ��	� ���� � �	 	� �������� ��
������&�� �������� 7�������

!� ���� 	��� 	� �������� $�	�:���� ������	� ������ �� CDD� ���	 ��� ������
�� �6� �6�� � �� ������ ��	����� ���� CDD� �� CDD�  �&�� ��6�� &����$��	� -���
�6� ��		= 7� ��� ��%��� �6� ���� 6����6�	�	 �6�� �6� ������� &����	 ��� %������ �����
@,6� �� ��	� �	 	� �������� �� �6� �O ��&��= �� $��6 �6� ���� 	����� ��� �6�
��	������� 	������B 2�7�&��= ������ �6�� �6� �������������� �� �6� ���������	 ��
�6� ������� ����;	 �6��������	���	 �	 �������? 	� �������� ������	 ����� ���	� ���6��
���� �6�� �	 �� ������� ���������	 �7�� �� �������	��  ���� ������	 �� ����
������	 �� �6� ������&�� �������  ��	 ������ �� �6�� � ������ ��	�����	�

.��� 10-1/>#�0-#

* ���$�� �� ��������� $��	�	 ����� �6� ���������	 �6�� ��� $� ���7� ����
	������� ���6��	 �� �������� �6� 	������������ �����������	 �� 	���:�����
7������� ,6��� �	 ������ �� $� �� ����������� $��	 �� �6� �	������� ������ ������
�7�� �� �6� ���� ������ ���	���	 ��������� �	�� �� 	��6 	�����	� *�� �6���
�	 �� ���� ������ $��	= ��	����� ���� � ���������� �� ����&��� ����&�����
�6��������	���	 �� �6� ������ ���	������� �����	 �6�� ��� ���7� �� ��������� 	���:
����� 7������� ,6� �&����� ��������� �� $��	 �� @	��B �6� ������ ������ �� 7������
�	 ������� �� � ������  �����	� !��6 � 6� 6:9������ ��� �������� 	��&�� ��� ���
 � 	��� 7�� ��7��� ������ 7��6 �6�	� �������	= �6�� 6 �&�� 7��6 &���  ���
������ ���	�������	 @$� ����	��� 	�������	B �6��� ������ �������	 �$���
����:&����� ���	������� �����	�

!� 6�&� �����	�� �� ����������� ����� ��� 	�$%����&�89��������&� 7������
���� �6�� ����	 �� ���� ������� �� �6� ���� ���������	 �� 	��6 ����� (� ������� 
�6� ���� ������	 �	 ������ ��� ������= ��� �6� ���	������� ������	 �	 ������&�
��� ����:��&������= 7� ��� �	� �� ������� ���$�� �� ��		��� �� ������&� �6�
���� 7������ ������	 �� �6�� �	 �� �$	��&�� �6��������	���	 ���� ��������
�6�� �	 �&�� �7� 	��&�� ����	 �� 	���:�������� ��	�����	 �� � 7������ ������ ��
��� ��� �6� ,6�	 ����7	 ��� ���� ����	 @����&�����:	�������B F�������  ��	; �6��
��	� $� 	������ �� �6�� � ���;	 ������ ��� � ,6� ������ ���������	 &����$�� ��
�6� ������� ���$�� �	 �6� �6�� � �� ������� ��� �� �6� ����	�������� ��������� ��
�6� ������&�� �������  ���

0� ������� �6�	 ���6�� �� ����� ���� �� 	�$%����&� �������� 7������ ���
+�		�� �� CDD�8D�= 7� ���� �6�� 	��� �� �6� ��	���	 7����� �������� �� ��	�

� ,6� /����� #�6��� �� "�������	 ��� G�������� #������ �55C

�55CN �<"-,�4M�-H !"/4*+" "44"1,# �E�
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	�����	 ������ �� $� ��$�	�= $�� ��6��	 �� ���� 2��	�6��� ������ �	 � 6� 6��
	� �������� ��������� �� 	���:����� �������� 7������� ����&����� ������ �	 � ���
7����� ���������� 2����6 	6���	 ��7�� 	�$%����&� �������� 7������ ��  �&��
&����	 �� ��6�� &����$��	 �� �6� �����= �������� ������	� ,6� ���� ���6��
������	 ����� �� ���		:	�������� 	�����	 @����$�� �� 6��	�6��� 	���= ��  �&��
������ ��� ������B ��� ��� ��$�	�� ,6� �A���� �� �6� ������� �� 6��	�6��� 	���
�� ����&����� 	�$%����&� 7������ 	�  �	��� $� ��	� 7��� ��� ������� ������
���	������� ������	 �� �6� ���� ���6�� �6��������	���	 �� �6� ��	�������;	
6��	�6����

�� ������ 7��6 ��	� 7���= 7� ���� �&������ �� �� ������:������	����
��	� �� 	�$%����&� �������� 7������ �� ������������� �� �6� ���� 	�����= ��
7���� ���� � ��� �  ��� �� ������� ������ �� ������	��� ��� $������ 
����������� 2�7�&��= ��� ��	���	 ����� �� � ���$�� �� 9������������	 �� ��	�
������ 	 �$��� �6� 7������ ������	 �� ������������� !6��� $������ 
���������� ������	 � ��� � 7������ ��		= �6�� ��		 �	 ��� ��	����� 76�� ��
���������� ���	��  ��	 � %�$= �A���� &�� �6� ������  ���� ,6�	 ������	 �
��������� 7������ ��		 ���� �&�� ����	���� ������������ ��  �&�� ������� ��
��	� 	�  �	�	 �6�� 6� 6 ������������ $������	 �� ��� ������� ������ ��� ��
7���= $�� �6�� ��� 7��� ��	����� � � ������ �� 7���� *�	�= �6� ������������
������ �	 ��� ��$�	� �� ��	������� �6� 	����� �� �6�	� ��� 76�� ������	 ���
����	� ��������� $����� ���	����� ,6��� ����� 7��� $� � $��	 �� ��	� �	������	 ��
�6� @������:������	����B 7������ ������ �� ������������= ���	�� ���� �6�
	�������� �� ������ ���	������� �����	�

�� �	 ����	�$�� �6�� $������ ���������� �� 	���  �������	 � 7������ ��		=
�&�� �� �6��� �	 ���� ����������� �� �6� ������ ��		� G����� ��������� $�����
��		 6���� 7��6 �6��� ��&�	 76�� 	��6 � 	6��� �����	� (�� 7� ���$� �6�� �6�	 �	
$��� �������� �� ��	7��	 �� �6� �������� ������ 9��	���� 7� 6�&� 	�������
G����� ��� ������ �	 �6�� �6�� ���� 	� ���������� ������ ��7=  �&�� �6��� �������
������= 76�� �6�� 	����� � 	6���� ,6� ���� ����	�$�� �������������� �	 �6�� �6�
������� 7������ ��		 ���	�	 ���� 	��� ���$������� �� ��7�� �A������ ������
������	 ��� ���� ��������� ������	= �6� ������ ���	�� ����  ������ �A��	���
�� ����	���� ��	� ���	��� �6� ������ ���������� 	������

*13-0!/"<H)"-,#

,6� ��������� 	������ �� �6� !���� (���;	 +�	����6 1�������� @����� +G0 ��C8�DB �	
 ��������� �����7��� ��� ,6� ������ 	= ��������������	 ��� ������	���	 �� �6�	 ����� ���
�6�	� �� �6� ���6��	= ��� 	6���� ��� $� �����$���� �� �6� !���� (���= ��	 �A�����&�
��������	 �� �6� ��������	 �6�� �����	���� 4�� �6��� 6������ �������	= �6� ���6��	 ���
 ������� �� *� �	 <�����= ����	�� �����= <�����9�� &�� �� !����= �6� �������;	
��������	 �������	 ��� 	������ �����������	 �� �6� !���� (��� ��� �����������	 �� �
���������� �� 6����� �� (������ &�� G��� �� �6� ,��$�� �� ��	������= *�	�������

-0,"#

C� #��&��	 �� �6� ���������� ��� $� ����� �� *� ��� @CD��B= <����� @CD��= CDD�B= 4���6�� ���
*� ��� @CDD�= �6� CCB ��� <����� 
� ��� @CDDDB�

�� ,6� �:�����	 ��� ���5 ��� C��DE= ��	�����&���= 7��6 	����� 	���	 �� �$��� E�55= ���6�� 6 	��6
��	�	 � ���� �6� ��	����� ������� ������ �� �6� 	�$%����&� 7������ �����

�� +��������  ���� ������	 6�&� $��� ��	��		�� $� @���
� ����B +������� @CD��B= "�	������ @CD��=
CDDEB= 4���� @CD�EB= &�� �� #���� 
� ��� @CD�EB= 1���� ��� 0	7��� @CDD�B ��� 1���� @CDDD�B�

� ,6� /����� #�6��� �� "�������	 ��� G�������� #������ �55C

�E� "10-0)�1* L*>H>#,
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�� "A�����	 ������� 1���� ��� 0	7��� @CDD�B= (����6���7�� @CDD�B= (����6���7�� ��� 0	7���
@CDD�B= ,6����		��� @CDD�B= !��������� ��� !��������� @CDD�B ��� 1���� @CDDD�B�

E� �� �� ������� �����= 7� ��	� �	�� ����� ���� �� 	���� �6� �����������	 �� 	�$%����&� 7������ ��
+�		��= $�� 7� ��� ��� ����7 ��� ����&����� ������	 ���	�� ���� ������ �	��6��� ���� ������	
@+�&������ ��� /��	6��= �555B� 0�6�� �����	 �	�� ����� ���� �� 	������ 	�$%����&� 7������
������� 1���� @CDDD�= $B= �6�� 6 6� ���	 ��� �	� �6� ����� ������ �� �6� ���� �� ��������� ������
����&����� ������	�

�� ,6�	 �����7	 	���� 6����7����� ���� ���	��;	 ���9������= ��� �	 7��� ���7� ���� �6� ����������
�� ���	���� ���9������ @�����7�� *����	�� CD�5B�

�� ������= �� 6�	 $��� �� ��� �6�� 	�$%����&� 7������ ���� ��� ���&��� �6� �A��� �����������
������ �� ����$���� �6� �9��&������ 	����	 �	�� �� ���� ������ �������	��	 @&�� G��� CDDC?
3������ CDD�B�

�� #��� ��	����6��	 6�&� 	���� �� �������� �6� ���	�	����� ��� 	��$����� �� �6� 	����	 �	�� ����		
��	�������	 @<����� 
� ��� CDDDB� 2�7�&��= �6��� ���	 ��� ������ �� $� � ������� �� �6�	 ������
4�� �A�����= .���6�&�� @CDD�= �� CB 7����	 �6�� F�6� �����A FF	�$%����&�;; ����	 �6�� �������� ���
%�� ����� ��� &��� ���� ���	�� �� ���	��;� �� 6�	 ��	� $��� �� ��� �6�� �6� 	���� �� ���������
�� 	�$%����&� �		�		����	 �� 6����6 &����	 	�	����������� 7��6 �6� 6����6 	����	 ���
	������������ �6��������	���	 �� ��	�������	 @H���� �555B�
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